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AN =D
HE: 5= 52
©ol YHBES 23 7lEE)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
307 glz2tol & 9,000 8,000 1,000
02 PIZHEHAHEE 9,000 8,000 1,000
O&EH SASAH XA 9,000,000& 9,000
ST XS ARS AIR4A EZA 20,000 0 20,000
401 A& HIZ 201 Y] 20,000 0 20,000
01 A& HI 20,000 0 20,000
OSFUHLENESAMAS MR SFHH
20,000, 000& 20,000
NHEEH dgs 29 A 126,382 116,158 10,224
= 63,191
Al 63,191
307 glz2tol & 126,382 116,158 10,224
= 63,191
Al 63,191
10 ALl SXAIEEE 2 H EX 126,382 116,158 10,224
ONE=gags 29 126,382,000& 126,382
= 63,191
Al 63,191
JHEEE Jtoll A n3EXE Z208 249 9,500 10,000 A 500
= 6,651
Al 2,849
307 21201 A 9,500 10,000 A 500
= 6,651
Al 2,849
11T MISRASEX 9,500 10,000 A 500
ONEEY Jtol Xt wEXE 2208 29g
9,500,000& 9,500
= 6,651
Al 2,849
=LA XNJAAE SAL SXNEX 16,240 14,088 2,152
Al 13,840
T 2,400
307 glz2+ol & 16,240 14,088 2,152
Al 13,840
T 2,400
11T M SRASEX 16,240 14,088 2,152
OSE =LA XAAE SAXR SR X
2 200,000 x4 «12& 9,600
Al 9,600
O =TI A KNJAE SAAL dSEE
=4 3,840,000& 3,840
Al 3,840
O =TI A KJAE SAAL SXEQE
100, 000& »4H 400
Al 400
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AN =D
HE: 5= 52
Sl YHBS 23 e (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHEIAE Z2H S A3 3,500,000& 3,500
SIRRIIE TtHE=EH & K& 265,006 245,339 19,667
J| 212,005
Al 53,001
301 LA S 265,006 245,339 19,667
J| 212,005
Al 53,001
01 MEIBZE 263 265,006 245,339 19,667
OSE2IE HHLSH S XA
265,006, 000& 265,006
J| 212,005
Al 53,001
FAUEeR8 ots2sH XA 3,600 3,321 279
J| 2,880
Al 720
301 LPEXZ 3,600 3,321 279
J| 2,880
Al 720
01 MEIBZE 06z 3,600 3,321 279
OFAHEREE Ots2 =] 3,600,000 3,600
J| 2,880
Al 720
SHRERIIEXE nsSH - 238 XA 32,343 35,598 A 3,255
Al 32,343
301 LA F 32,343 35,598 A 3,255
Al 32,343
01 MI28E+06l= 32,343 35,598 A 3,255
OR2IIEXE nEdl - s83H X3
32,343,000 32,343
Al 32,343
SIRL2IENE Wsd A 978 10,000 A9,022
Al 978
301 LA F 978 10,000 A9,022
Al 978
01 MEIBEE 263 978 10,000 A9,022
OstR2IE M=l 978,000& 978
Al 978
2+ &4 6,674,021 6,849,012 A 174,991
= 3,310,010
Al 2,751,167
- 612,844
g2 X& 62,900 62,180 720
201 Let24d] 2,400 1,680 720
01 At 22l 2,400 1,680 720




A I ZSH=E
HE: 5= 52
Sol: BRAFE A CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SCEFEEERICERCEE
100,000& x 122 x23]| 2,400
307 2iz2to| & 60,500 60,500 0
10 M SXANEEHESIGHEX 60,500 60,500 0
O0elold 4 - et K& 15,500,000 15,500
ONeloly astEd2AH X 45,000,000 45,000
FOIoLIIE el AtMTE 1,498 1,498 0
201 et d| 1,498 1,498 0
01 AR 22l ] 1,498 1,498 0
OMAMNRE =& 150,000 »2H 300
O&atE H & 16,5009 x35H 578
@)=E=L 60,000& 2 & 120
OJIEt 2982 500,000 500
AUH2ZNA 2Y 2,400 2,400 0
307 giztol A 2,400 2,400 0
05 QIZtR ES 2,400 2,400 0
OFUZANA SEH| 200,000& x12& 2,400
BSWAI DA 29 2,240 2,240 0
201 et d| 2,240 2,240 0
01 AP 2t 2] H| 640 640 0
O x=a 60,000& x3& 180
OBEssZE Wil T 20,000 x13Y 260
o=2IES 200,000& 200
03 A2 G| 1,600 1,600 0
OAxLdN= 300,000 2 600
O=23t=2dH 500,000 x2&! 1,000
BKOA HRMHH 68,400 68,400 0
307 212t0| ™ 68,400 68,400 0
10 AISISXAIEEHE2HAH 2 68,400 68,400 0
OBEDAF A2 50,0003 x114H ~12& 68,400
geotErs XN 2,137,092 2,044,910 92,182
1,602,819
373,991
160,282
307 2iz2tol & 2,137,092 2,044,910 92,182
1,602,819
373,991
160,282
05 QIZ2tRE 2 2,137,092 2,044,910 92,182
oOgsotesz < 2,137,092,000& 2,137,092
1,602,819




2N B
HE: 5= 52
o9l BRAE Y EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 373,991
T 160,282
EswXA oA X 1,529,082 1,523,448 5,634
= 917,449
Al 428,143
- 183,490
307 glz2tol & 1,529,082 1,523,448 5,634
= 917,449
Al 428,143
- 183,490
10 At2I = XAl 1,529,082 1,523,448 5,634
OEsuH 1,529,082,000& 1,529,082
= 917,449
Al 428,143
- 183,490
ItELsE XA 562,238 642,697 A 80,459
= 421,678
Al 98,392
T 42,168
301 LA S 562,238 642,697 A 80,459
= 421,678
Al 98,392
T 42,168
01 M2 & H 562,238 642,697 A 80,459
oinrgeg=s 562,238,000 562,238
= 421,678
Al 98,392
- 42,168
Es0HE HRMHH KA 507,095 362,751 144,344
= 304,257
Al 141,987
- 60,851
307 gl2tol & 507,095 362,751 144,344
= 304,257
Al 141,987
- 60,851
10 At2I Z XAl | 507,095 362,751 144,344
oogols AKX &b K&
215,025,000 215,025
= 129,015
Al 60,207
- 25,803
Ongold Exu S WALIZE) ol
2l XI& 292,070,000 292,070
= 175,242
Al 81,780
- 35,048
oeold 28X 10,173 9,153 1,020




A I ZSH=E
HE: 5= 52
Sol: BRAFE A EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 6,103
Al 2,849
- 1,221
307 2iz2to| A 10,173 9,153 1,020
= 6,103
Al 2,849
- 1,221
10 MM SAANEEHESIHEX 10,173 9,153 1,020
OWelold WMHwW—-H X« 6,117,000& 6,117
= 3,670
Al 1,713
= 734
ONWel ol xgx2d9d X 4,056,000 4,056
= 2,433
Al 1,136
= 487
228 Helold X 95,232 75,520 19,712
= 57,139
Al 26,665
- 11,428
307 2Iz2to| & 95,232 75,520 19,712
= 57,139
Al 26,665
- 11,428
10 MM SAANEEHESIGHEX 95,232 75,520 19,712
228 elold X 95,232,000 95,232
= 57,139
Al 26,665
- 11,428
22 QUHEHY 24 1,130 1,050 80
= 565
Al 283
5 282
201 et 1,130 1,050 80
= 565
Al 283
5 282
01 AP 2t 2] H| 1,130 1,050 80
OB 2LHEH 24 1,130,000 1,130
= 565
Al 283
- 282
Sl E=22 A 1,374,829 1,601,841 N227,012
Al 1,374,829
307 2Iz2t0| & 1,374,829 1,601,841 N227,012
Al 1,374,829
05 QIZ2tREF 2 1,374,829 1,601,841 N227,012




SN HEHED
M IIE=EX &
Sl BEAE B4 (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OFcltd Es8 1,374,829,000& 1,374,829
Al 1,374,829
Helold S&stsH L 2 AH X 8,640 10,000 A 1,360
Al 8,640
307 212t0| & 8,640 10,000 A 1,360
Al 8,640
10 Al SEXAIEEE2IHIBX 8,640 10,000 A 1,360
Ol s&sts & 23 AHl K&
8,640,000 8,640
Al 8,640
HEXNE Helold AHFd9H XN 3,600 3,000 600
Al 3,600
307 QI2t0| ™ 3,600 3,000 600
Al 3,600
10 Al SEXAIEEE2IHIEX 3,600 3,000 600
OFEXNL HeElold neEF=2HH| 3,600,000& 3,600
Al 3,600
OF2t0i el 01 & 2celA2 289 106 72 34
Al 106
307 212t0| & 106 72 34
Al 106
10 AIRISEXAIEEHE2IHIBEX 106 72 34
oor2telold SelAa2 8¢ 106,000& 106
Al 106
HZHEENHE 0 E EKSUA E2RE XS 24,000 21,600 2,400
Al 24,000
307 212t0| & 24,000 21,600 2,400
Al 24,000
10 Al SXAIEEE2IHIEX 24,000 21,600 2,400
ORNHLOBOIE HSAAN S222 4g
24,000,000& 24,000
Al 24,000
ZHE KOS 0IE XS A 228 & 6,000 4,800 1,200
Al 6,000
307 212t0| & 6,000 4,800 1,200
Al 6,000
10 MASXNANEEHESIHEX 6,000 4,800 1,200
OXMEROINHEIOIE XIE A 223 &b
6,000,000& 6,000
Al 6,000
HEXNINHE0E EKWA EX£=E 5,400 7,000 A 1,600
Al 5,400
307 212t0| & 5,400 7,000 A 1,600
Al 5,400




SN HEHED
g OtE=X 54
Sl BEAE B4 (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
10 AL SXNAIEEE2EH EX 5,400 7,000 A 1,600
OF=RXNIANE0E ES0A EX=+E
5,400,000& 5,400
Al 5,400
gzt - tENeold Esudd SN2 X2 87,000 100,000 A 13,000
Al 87,000
307 glz2tol & 87,000 100,000 A 13,000
Al 87,000
10 AL SXNAIEEE2EHEX 87,000 100,000 A 13,000
OgIzt - JIENE0E BE|uA S2X+E
87,000,000& 87,000
Al 87,000
gzt - JENe 0l EsUA ElI2s5+2 K& 13,800 7,638 6,162
Al 13,800
307 gl2tol& 13,800 7,638 6,162
Al 13,800
10 ALl SXNAIEEE2EH EX 13,800 7,638 6,162
OQIZEIIEAHEOIE E2uA 25249 X
el 13,800, 000& 13,800
Al 13,800
S 0ld X2l& oAy X 3,600 3,600 0
Al 3,600
307 21201 A 3,600 3,600 0
Al 3,600
10 M2 SXNANEHE2IHEX 3,600 3,600 0
O3380eold =el& oAdl X
3,600,000 3,600
Al 3,600
FR0XNA Heloldy el ol X 8,000 3,000 5,000
Al 8,000
307 21201 A 8,000 3,000 5,000
Al 8,000
10 ALSISXAIEEE2IHEX 8,000 3,000 5,000
OHROXNH0IE Zeld 20Hdl X3
8,000,000& 8,000
Al 8,000
OO 200l XtEIIAF 1Al XI& 3,600 0 3,600
Al 3,600
307 21201 A 3,600 0 3,600
Al 3,600
10 ALSISXAIEEE2EHEX 3,600 0 3,600
OZOOIEZHE0IE XHEIIAL o1 dd XI&
3,600,000& 3,600
Al 3,600




2N B
HE: 5= 52
Sol: BRAFE A EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
d20X& HEold 200l HHESEZ X 140,282 0 140,282
Al 140,282
307 gl2tol & 140,282 0 140,282
Al 140,282
05 BIZHRI & 3 140,282 0 140,282
OFR0IXNE Helold 200l ¥ X
2 140,282,000& 140,282
Al 140,282
oelold Delel2dd At 15,684 0 15,684
401 AIEHI L 2 0] 15,684 0 15,684
01 A& Hl 15,684 0 15,684
Oogold Oelel2d 2 A 15,684,000 15,684
Lo =xsa 32,745,712 28,449,138 4,296,574
= 25,264,715
Al 6,499,356
- 981,641
HEAQ 245 BF 24,841,187 21,689,500 3,151,687
= 22,269,408
Al 2,306,341
- 265,438
SoAELQMO K& 79,400 77,500 1,900
Al 79,400
301 LEd = 79,400 77,500 1,900
Al 79,400
01 Ml2ZE 6= 79,400 77,500 1,900
Oy HEAZS N
50,0003 794 +23| 79,400
Al 79,400
NAs oA AZ2E28s N&E 18,000 15,000 3,000
301 LEEBAF 18,000 15,000 3,000
01 Mel28E 6= 18,000 15,000 3,000
OMAS LA A2 . HIAEE=E X
1,500,000& 12 18,000
=33 24,743,787 21,597,000 3,146,787
= 22,269,408
Al 2,226,941
- 247,438
301 LeEAF 24,743,787 21,597,000 3,146,787
= 22,269,408
Al 2,226,941
- 247,438
01 MI28E+06l= 24,743,787 21,597,000 3,146,787
OJl=da Xa 24,743,787,000& 24,743,787
= 22,269,408




AN OIS Y
Hu: Lo=XEA
el OIHEO LEAS B3 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 2,226,941
T 247,438
d2otn BEsd=s t2ME B 1,259,226 784,246 474,980
= 722,228
Al 536,998
HASMItEQl AlAIHE 130,470 130,500 A 30
Al 130,470
307 2I2H0I A 130,470 130,500 A30
Al 130,470
11 ALS S XALEE = 130,470 130,500 A30
OMASTHItECl AAH HHE 130,470,000& 130,470
Al 130,470
Y2AY 22 IAAMY 86,250 85,498 750
Al 86,250
307 glz2tol & 86,250 85,498 752
Al 86,250
11T M3 2XAIS EX 86,250 85,498 752
OZ24E RE34AY 86,250,000 86,250
Al 86,250
Lo EESSMEIAAY 1,004,900 535,328 469,572
= 703,425
Al 301,475
307 21201 A 1,004,900 535,328 469,572
= 703,425
Al 301,475
11T M3 SXAISEEX 1,004,900 535,328 469,572
OLSESsSMEIAALY 1,004,900, 000& 1,004,900
= 703,425
Al 301,475
SN HOHO STOHNNHIAAY 37,606 32,920 4,686
= 18,803
Al 18,803
307 ©12+0I & 37,606 32,920 4,686
= 18,803
Al 18,803
11 ALS S XAEE = 37,606 32,920 4,686
OSHL HoHe S=SAHH MBI AALS
37,606,000 37,606
= 18,803
Al 18,803
OHMBHD ED|& SEME)|B =4 6,580,299 5,925,392 654,907
= 2,214,579
Al 3,649,517
- 716,203
ARSA K2 12,465 12,465 0




AN =D
Hu: Lo=XEA
Ctel: otdotll 0| S=dE)|g =4 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 Le-2d| 4,565 4,565 0
03 A2 Z Hl 4,565 4,565 0
O100A A= ZZ2 A 3,565
o9 80, 000& *5JH 400
ocR2IES ¥ OIHE 3,000,000& 3,000
ololol & ¥ H2O G JIEA RIEA Al
& 16,5002 * 102 165
OAE F2HA 2 JIEA S MU
500,000& *2CH 1,000
301 LEEAZ 7,900 7,900 0
09 HALAHIX RS 7,900 7,900 0
O100M 2B =T 2= & A 6,900
oxZHEE A 500,000& *4 &l 2,000
o AL3 X2 & 400,000& x1H 400
cHUWHXA JIEE s B4 15,000& 300 4,500
O FZAM & JIEBAS HAEFTAK X
5,000& x200H 1,000
ColgRiel ¥ AtslE2sXE =i 4,394,257 3,719,171 675,086
2 2,197,129
Al 2,197,128
307 gl2tol & 4,394,257 3,719,171 675,086
= 2,197,129
Al 2,197,128
05 BIZHRI & 3 4,394,257 3,719,171 675,086
OLolgdxiel & ASSSXAAMS(LAAL =
2) 4,394,257 ,000& 4,394,257
= 2,197,129
Al 2,197,128
Lolglat 24 99,890 81,890 18,000
Al 12,000
- 87,890
307 21201 A 72,890 70,890 2,000
Al 12,000
- 60,890
10 M SXNANEHIS2IHEXS 59,200 58,200 1,000
Oougtels sk 244 X2
29,200,000& 29,200
Ot elsl &7 Ra AIR=F el
2,500,000& x12& 30,000
Al 12,000
- 18,000
11 AS S XA E = 13,690 12,690 1,000
Ot elsl =7 Xal SR ALY 13,690
ocHZ4 It ZE20H 7,000,000 7,000
cFdZ S FE HAX AS 3,000,000& 3,000




9 H 3

ol
o &2

Xl
Rl

t

o
1

e M
ol Jit 0
=

e
0x

Jl

o

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
oL olMEX S S 3,690,000& 3,690
401 Al B2 28I 21,000 5,000 16,000
01 A& HI 21,000 5,000 16,000
ogt=elg s Xz &AM 21,000,000 21,000
405 XHoHF S HI 6,000 6,000 0
01 XL =2 ZFH S| 6,000 6,000 0
OUst 3= X3 28 7Y
6,000,000 6,000
olsiE 2 1,172,161 1,140,825 31,336
Al 798,837
T 373,324
307 21201 A 1,156,161 1,140,825 15,336
Al 798,837
- 357,324
10 M2 SXNANEHE2IHEX 1,156,161 1,140,825 15,336
Ok =Xa 249l 682,240,000 682,240
Al 477,568
T 204,672
okol=xa 2 = & oH 12,240,000& 12,240
Al 12,240
O =Xz 22 2 428,841,000 428,841
Al 300,189
T 128,652
okol=xa 22 3 & oH 6,840,000 6,840
Al 6,840
OBIZFAISIEXAF ML A
100, 000& »20H «12& 24,000
OLo=EX2 AN SANEAE
100,000& 20X 2,000
Al 2,000
401 A& BIZ 201 8I 16,000 0 16,000
01 A& HI 16,000 0 16,000
Ok =Xa 22 &Zid 16,000, 000& 16,000
J2E 29 N 115,820 108, 660 7,160
Al 44,640
- 71,180
307 21201 A 113,820 106,660 7,160
Al 44,640
- 69,180
10 M3 SXNANEHISIHEX 113,820 106,660 7,160
oZz2% 29 & 113,820
o 23l 113,820, 000& 113,820
Al 44,640
- 69,180




SH: EE=D
H: col=Ed
Sl OEGtD BIIE LRuIE X4 (29l 8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
308 XXM SO0 A 2,000 2,000 0
12JIEtRE3 2,000 2,000 0
OZdzYd =11 tes N2 2,000,000& 2,000
g2 dz4 NA 6,950 4,950 2,000
Al 775
T 6,175
301 LEEAZ 6,950 4,950 2,000
Al 775
T 6,175
01 MEIBEE 2053 6,950 4,950 2,000
O¥E (4 . FHF)A2Y XE 6,950,000 6,950
Al 775
- 6,175
ZRY=3 T2 Y 22| X XAt 33,602 33,646 AN44
Al 16,601
- 17,001
307 21201 A 33,602 33,646 A44
Al 16,601
- 17,001
10 AFBI 2 X AISHE 2HH B X 33,602 33,646 N44
OARY2s T2 BT HIXIAL
33,202,000& 33,202
Al 16,601
- 16,601
Oz2gasDz ey el AFEII
400,000& 400
Z2YE45AY 11,000 16,850 25,850
Al 11,000
307 21201 A 11,000 16,850 25,850
Al 11,000
10 ALSISXAIEEE2IHEX 11,000 16,850 25,850
OZ2Y g435tArY 11,000, 000& 11,000
Al 11,000
Mot = XA 265,912 356,676 A 90,764
Al 264,112
- 1,800
307 gl2tol & 265,912 356,676 290,764
Al 264,112
- 1,800
11T ALS S RAEE = 265,912 356,676 A 90,764
Osds2LA=R4H 132,056,000 132,056
Al 132,056
OLEgLo=XdH 132,056, 000& 132,056
Al 132,056
OCIZFALSI SR AF M<SIA 50,0008 =3 12 1,800




A I ZSH=E
Hu: Lo=XEA
CHel: OHMGHD DI 2 ME)|g 24 (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
A2 G duksiyl 2 2=H| X & 69,800 67,512 2,288
2 17,450
Al 34,900
- 17,450
307 2Iz2to| & 69,800 67,512 2,288
= 17,450
Al 34,900
- 17,450
10 MM SXANEEHESIGHEX 69,800 67,512 2,288
OZ=2E dtgty] & 2d=H| X 69,800
odZ G uetyl X & 49,600,000 49,600
= 12,400
Al 24,800
- 12,400
odz & dutyl XI& 6,200,000& 6,200
= 1,550
Al 3,100
5 1,550
ocdZE HRASI ALY 14,000,000 14,000
= 3,500
Al 7,000
- 3,500
Z2Y BAMA A 56,000 45,000 11,000
401 Al HI L 2 0HHI 31,000 30,000 1,000
01 Al&H| 31,000 30,000 1,000
OHZY stHIMNH & I - B 31,000,000 31,000
405 XHAFFE S HI 25,000 15,000 10,000
01 XAt 2 ZF S| 25,000 15,000 10,000
OFRY Yuwl S 2Y2E 29
25,000,000 25,000
MEECZ SHAMA ZAX (oA XNLAEH 2 13,430 13,430 0
o))
Al 5,000
5 8,430
307 QI2t0| & 13,430 13,430 0
Al 5,000
5 8,430
05 QIZtREZ 13,430 13,430 0
ONEEZ 2 AAXTAH AFYH KR (Lo YXt
CIRRLAEHR2H) 5,000,000& 5,000
Al 5,000
Ol Rel XNy 2222 A
8,430,000& 8,430
AMLIHEE 29 299,452 288,907 10,545
Al 251,564
- 47,888




A I ZSH=E
HY: Lo=xEd
CHel: OHMGHD DI 2 ME)|g 24 (e H)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 299,452 288,907 10,545
Al 251,564
- 47,888
10 MM SXAANEEHESIGHEX 299,452 288,907 10,545
OAlLINZEE 29 295,252,000 295,252
Al 250,964
5 44,288
OBIZEAISIE XA A& 50,000 x6H «12& 3,600
OAMUOHZEE SAA EXNEQE
100,000& »6H 600
Al 600
LOoog=XAlE SALN SXE 14,160 21,360 ANT,200
Al 12,960
- 1,200
307 212t0| & 14,160 21,360 NT,200
Al 12,960
- 1,200
11 A EXAIEEX 14,160 21,360 NT,200
OLQIoEEIAE SALN EXx=E
60,000& x18H x12& 12,960
Al 12,960
OBQIZZEASIEXAF HR2IHE 50,000 x2 x12& 1,200
SAD AR 22 11,000 10,500 500
201 LBt ]| 3,000 3,000 0
01 AP 22| H| 3,000 3,000 0
O2dD AMX 202 1,500, 000& *23] 3,000
301 dEtE M =2 8,000 7,500 500
01 Al B & X 462 8,000 7,500 500
ORHAD AFZX &2l 800,000& x10+ 8,000
JdZ=E HHAMAUSEH 1,000 1,000 0
307 212t0| & 1,000 1,000 0
06 22 1,000 1,000 0
OHEAZE A EABH 1,000, 0008 1,000
CEMEXY 2E 3,400 2,110 1,290
201 B9 3,400 2,110 1,290
01 AP 22| H| 3,400 2,110 1,290
OHSANHEEZANS/AKS LS
100,000& *7H x 13| 700
OO0IZ2IRAE MAIRLKE (LT XHE) &
MG 100,000& x»4H x 13| 400
OLodXIeIAY AoRA]S EF&E4E
100,000& *4H x 13| 400




SAM: Ot

za=)
Hu: Lo=XEA
CHol: OHABIL BIIE LSMEIIN X4 (ctel:&2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLOREESN0~ M3 Ba+g
100,000 »3H »23| 600
OfIdal & JIEt2gHl 500,000& 500
ORIQUINZ NSRS B2
100,000 x4 H 23] 800
HASE MEtFRA 65,000 50,000 15,000
= 58,500
Al 6,500
MAZH(AE) 65,000 50,000 15,000
= 58,500
Al 6,500
307 glz2+ol & 65,000 50,000 15,000
= 58,500
Al 6,500
10 ALSISXAIEHE2GH EX 65,000 50,000 15,000
OMAZO(AIHE) 65,000,000& 65,000
= 58,500
Al 6,500
ots - 824 25 =4 3,173,387 3,015,418 157,969
= 1,561,641
J| 48,498
Al 1,032,686
- 530,562
Ots =Xl & 2,327,710 2,166,863 160,847
= 1,294,867
J| 46,417
Al 767,866
- 218,560
Ot==SXX& 3,950 3,450 500
201 Let2d] 1,950 1,450 500
01 At 22l 1,950 1,450 500
OltssSA?da 4= 100,000&+x7& *12] 700
OOIS =X Ao AS ALY
100,000 x6H »23| 1,200
O0tsstiiolgns ZA=g
50,000& x1H *12 50
401 Al HI K 2018 2,000 2,000 0
01 A& HI 2,000 2,000 0
O0eol=0lAld =027 &Hl 2,000,000 2,000
Ots& Z=AL 333 At 1,496 0 1,496
201 L4l 696 0 696
02 =224l 696 0 696
O0lsstl 323 sUHAES |
40,0003 x 101 =128 480
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SN tER=D
HH: 0lS - HAW 25 24

Ee: Ols==S X sHat (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 3,780
Oged=ql|2t 22X X 700,000 700
J| 490
Al 210
I JIEREOIsS AelxlEs XN 2,700 1,000 1,700
= 1,890
Al 810
301 dEtE M= 2,700 1,000 1,700
= 1,890
Al 810
01 Al B & X 26 2 2,700 1,000 1,700
Oge - I3 eots delxz X
2,700,000& 2,700
= 1,890
Al 810
el =52 3,000 3,000 0
Al 3,000
301 et A =2 3,000 3,000 0
Al 3,000
01 Al B & A 462 3,000 3,000 0
Ogs=sl=2 XN 3,000,000& 3,000
Al 3,000
Ols &< XI & H = 48,000 33,479 14,521
= 33,600
Al 14,400
301 et ™M= 48,000 33,479 14,521
= 33,600
Al 14,400
01 A& A 252 48,000 33,479 14,521
OOtseI A& AKX XS 48,000,000 48,000
= 33,600
Al 14,400
ESEZ20ts NEE 64,800 18,900 45,900
= 45,360
Al 19,440
301 et A= 64,800 18,900 45,900
= 45,360
Al 19,440
01 Al E & A 462 64,800 18,900 45,900
OBSE=0ts NEgxe 64,800,000 64,800
= 45,360
Al 19,440
RESOIES OEE 29 (EX) 86,643 82,443 4,200
J| 34,657
Al 51,986
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SN tER=D
HH: 0lS - HAW 25 24

S OlsSS X sa (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
307 QI2t0| & 86,643 82,443 4,200
Dl 34,657
Al 51,986
10 Al SXAIEEE2IHI X 86,643 82,443 4,200
O3sMEIIE 29 XN& 86,643,000& 86,643
Il 34,657
Al 51,986
RESOs 085 NE 27,540 13,250 14,290
Al 25,740
- 1,800
307 QI2t0| ™ 27,540 13,250 14,290
Al 25,740
- 1,800
11 A SAAEE X 27,540 13,250 14,290
OSSMEINE BS0tsAA 15,200,000& 15,200
Al 15,200
O0E=E sSMA EXNEE 9,340,000 9,340
Al 9,340
Od8s ot& 22|yl 900,000& 900
Al 900
OIODEE CIZ2tAISIEXAF HLMHA
50,000& *3H x12& 1,800
OIE=E SANA SAIEQUE 100,000& *3H 300
Al 300
Ho . gskE Ols24 A 206,748 206,748 0
Al 155,061
- 51,687
301 et M= 206,748 206,748 0
Al 155,061
- 51,687
01 MBI EBEEAEAG=2 206,748 206,748 0]
OEY - gsts ols=24A XA 206,748,000 206,748
Al 155,061
- 51,687
E-2 352 0tE3A X 55,380 55,380 0
Al 55,380
301 YU BHZ 55,380 55,380 0
Al 55,380
01 M EXE 462 55,380 55,380 0
OE - ¢ -35d Oots=24 X& 55,380,000 55,380
Al 55,380
HAS ZANSIAX 57.606 57,606 0
301 dBtEX =2 57,606 57,606 0
01 MSIEEE G2 57,606 57,606 0




S= X g4 )
= - 4 14
M- o9 (B H) - MEAY - B2 %Ei HR=2
OMAS ZA0Is=SAXE 57,606,000& 57,606
Ol XNANMAY 29 233 304 AT
= 163
Al 70
201 et | 233 304 AT
= 163
Al 70
01 AP 2t 2] d| 233 304 AT
Ottss% XNAMAMY 29 233,000 233
= 163
Al 70
=g 1,047,000 1,127,252 N 80,252
= 838,000
Al 146,000
- 63,000
301 et M= 1,047,000 1,127,252 N 80,252
= 838,000
Al 146,000
- 63,000
01 Al E& A 252 1,047,000 1,127,252 N 80,252
Oots4+< 1,047,000,000& 1,047,000
= 838,000
Al 146,000
- 63,000
NE0otsSHE 224 X& 253,200 222,960 30,240
= 126,600
Al 113,940
- 12,660
307 2iz2tol A 253,200 222,960 30,240
= 126,600
Al 113,940
- 12,660
10 MM SAANEEHESIGHEX 253,200 222,960 30,240
OX<E0otsHdyH D229 X
253,200,000& 253,200
= 126,600
Al 113,940
- 12,660
=Y IY90tsHE FIOHXR 14,616 18,666 A 4,050
= 7,308
Al 7,308
307 2iz2to| A 14,616 18,666 AN 4,050
= 7,308
Al 7,308
11T AISIEXAIEEX 14,616 18,666 AN 4,050
EXZSNG (Y90tsHEH F=IHAH
14,616,000 14,616
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SN tER=D
HH: 0lS - HAW 25 24

ors=sX = A HH)
i =
SA-HH-S2(3N) - MBAY - BLS e 2
= 7,308
Al 7,308
EQ2E XNGotsdEH FIHAA 10,944 12,160 A1,216
= 5,472
Al 5,472
307 glztol & 10,944 12,160 A1,216
= 5,472
Al 5,472
M ARISXAISE L2 10,944 12,160 N1,216
OER2Y XNdotsdH FIHX
10,944,000 10,944
= 5,472
Al 5,472
ASotsdEH K& 47,000 43,056 3,944
Al 40,200
- 6,800
201 L Er2 A | 1,288 1,319 A3
Al 1,288
01 At22t2l bl 1,288 1,319 A3
EAMTIIE 2SI 1,288,000& 1,288
Al 1,288
307 glztol & 45,712 41,737 3,975
Al 38,912
- 6,800
A S XA E = 45,712 41,737 3,975
OXNS0otsHEH Sateg 2gXd 8,400
cOfUESHY 8,400,000& 8,400
Al 8,400
OXSotsHE SALA X <&
21,000,000& 21,000
Al 21,000
OXdotsdle =278 X 7,320,000& 7,320
Al 7,320
Odt eyl 1,392,000& 1,392
Al 1,392
OXSotsHE QZEAZSXAL MR
50,0008 x8H x12& 4,800
OX0otsSHE SAL SXZAE X
100,000 ~8 800
Al 800
OXSotsHle! Heal BAH K&
2,000,000& 2,000
ASotsdE S8 XN 2,760 2,400 360
= 1,380
Al 1,380
307 glztol & 2,760 2,400 360
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M Ots - E4AE Bs 84
Sl OSEX B (B9 ®R)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,380
Al 1,380
10 ALSISXAIEEE2EHEX 2,760 2,400 360
OXdotsde SJI183J N&  2,760,000& 2,760
= 1,380
Al 1,380
ANSGotsdH &ZedHl X 10,000 10,000 0
= 5,000
Al 2,500
- 2,500
307 21201 A 10,000 10,000 0
= 5,000
Al 2,500
- 2,500
MBS ALS E 10,000 10,000 0
OX<gots4dH &3Iad XI& 10,000,000 10,000
= 5,000
Al 2,500
T 2,500
S=XNdotsdy X 11,920 9,914 2,006
= 5,960
Al 5,960
307 gl2tol & 11,920 9,914 2,006
= 5,960
Al 5,960
11T M ZXAIS EX 11,920 9,914 2,006
O=2=XgotsHdEe X 11,920,000& 11,920
= 5,960
Al 5,960
OlSEX WA DHA(BX) 50,937 49,320 1,617
= 24,119
Al 24,118
- 2,700
101 14l 50,937 49,320 1,617
= 24,119
Al 24,118
T 2,700
04 JI12ZtHZ22HEE = 50,937 49,320 1,617
OO0ts= XA erAdl X& 48,237,000 48,237
= 24,119
Al 24,118
OOts=XNLA MM 2,700
oSEXNZEQE 300,000& 3 * 12 900
cHAMNIS 300,000 x3Y x23| 1,800
FHAHNE OlsSSAMHA K& 134,937 125,275 9,662
= 128,515
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 1,061
T 5,361
101 @144 dl 10,912 0 10,912
2 8.490
Al 1,061
T 1,361
04 JIZHHZ22XEE S 10,912 0 10,912
OJI2HH OFSSEAHZ2IAL Q1 218]
10,912,000& 10,912
= 8,490
Al 1,061
T 1,361
201 L4l 116,025 116,025 0
2 112,025
T 4,000
01 At 22l 112,025 112,025 0
OE - 2X - 2|Z2] 29
101,775,000& 101,775
= 101,775
OLEEAEE Arg2el2gdl S 10,250,000 10,250
= 10,250
02 =24l 4,000 4,000 0
OEYAEBRENH 2323 S 4,000,000& 4,000
202 oddl 8,000 8,000 0
= 8,000
01 = LH 4 Hi 8,000 8,000 0
OEEAEEAY =& 0l 8,000,000& 8,000
= 8,000
Cte ss4dH X& 132,000 0 132,000
= 71,500
Al 51,500
T 9,000
201 2et2 Y| 1,000 0 1,000
01 At 22l 1,000 0 1,000
ohgnssdH =8I 3423 A
=g 100,000& 10 1,000
307 21201 A 61,000 0 61,000
= 26,500
Al 26,500
T 8,000
10 ALSISXAIEEE2FHEX 61,000 0 61,000
OUEH=SHEH el 50,000,000& 50,000
= 25,000
Al 25,000
OUgNssdH 29l 11,000, 000& 11,000
= 1,500
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=

i
2m

A T.500
2 8,000
401 Al HI L 2 CH bl 50,000 50,000
2 25,000
Al 25,000
01 Al&HI 50,000 50,000
OUBMESSME &XH &  50,000,0008 50,000
2 25,000
Al 25,000
405 XtoHE S| 20,000 20,000
2 20,000
01 Y2 EH S| 20,000 20,000
OLEMESHE 20,000, 0008 20,000
2 20,000
Y 258y 456,628 £22,433
2 156,477
p] 1,381
Al 158,672
2 140,098
LY HEES 10,060 2,270
201 Yete Al 8,760 2,270
01 Al 22t 8,760 2,270
OFAH W B2E 1,130
cEREE 900! *50004 <25 900
o8 40t 80,0002 « 104 80
= 01 JH [l 5,000 «3004 150
OHAHZ 23 7,300 1002 730
SE-PNEESE 1,0002 «5000H * 155 500
SE-PNEEX TN
300,0002 +52H 12 1,500
Oduol o =53t 2,0008! *500% 1,000
OO0l2I0l - HAH3 o8 HX L 232y
z 3¢ 1,000,0002 1,000
SEPNEEPELE
100, 0008 102 13| 1,000
ONSAE HAH SEUAMH 2GS &
Mag 100, 0008 *10% *13] 1,000
OSADZAUMKAY S Fa4Y
100, 000! +9% * 13| 900
301 LPEE 1,300 0
EPIEECE 1,300 0
OFLURHSY A= 50,0008 621 300
OFALURHEZ NEHSSSH|
20,000 252 23] 1,000
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AN =D
M Ots - E4AE Bs 84
el AW 2584 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HAERMHEE ZAIE XA(XH) 3,000 3,000 0
= 1,500
Al 1,500
307 gl2tol & 3,000 3,000 0
= 1,500
Al 1,500
11T AIS S RAEE = 3,000 3,000 0
OFAYE Roigd He XA
3,000,000& =12 €t X 3,000
= 1,500
Al 1,500
FadE AZXNEAY 21,012 21,012 0
= 10,506
Al 5,253
- 5,253
301 EEd = 21,012 21,012 0
= 10,506
Al 5,253
- 5,253
01 MI2ZHE 6= 21,012 21,012 0
OMNASE HHdEad AMES &
21,012,000 21,012
= 10,506
Al 5,253
- 5,253
FAudEgsENEH 23X & 154,680 141,512 13,168
Al 77,340
- 77,340
307 2201 A 154,680 141,512 13,168
Al 77,340
T 77,340
05 BIZHRIE 3 154,680 141,512 13,168
OFATLUESNEH FAHAEMY 23|
154,680, 000& 154,680
Al 77,340
- 77,340
FAagordgy 2 A Y X 96,800 94,700 2,100
= 48,400
Al 24,200
T 24,200
307 21201 A 96,800 94,700 2,100
= 48,400
Al 24,200
- 24,200
05 BIZERI & 3 96,800 94,700 2,100
OFAGetEY EAY 2ZHl 96,800,000& 96,800
= 48,400
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SN HEHED
M Ots - E4AE Bs 84
el AW 2584 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
T 24,200
T 24,200
HFAUsEHL MY 29 X 74,940 72,091 2,849
= 37,470
Al 18,735
- 18,735
307 glz2tol & 74,940 72,091 2,849
= 37,470
Al 18,735
- 18,735
05 RIZIRI & 3 74,940 72,091 2,849
OFLESEL AlY 2Z I 74,940,000& 74,940
= 37,470
Al 18,735
- 18,735
HAESEN A 20284 2) I 6,220 4,896 1,324
Al 3,110
T 3,110
307 21240 & 6,220 4,896 1,324
Al 3,110
T 3,110
05 RIZt2IE = 6,220 4,896 1,324
OFAESEI MY 2EHI(DI2R2E2)
,220,000& 6,220
Al 3,110
T 3,110
stm % HAW XRME AN 83,716 82,060 1,656
= 58,601
Al 25,115
307 glz2+0l & 83,716 82,060 1,656
= 58,601
Al 25,115
05 RIZteIE = 83,716 82,060 1,656
O & F44dE XNJHH 24|
83,716,000& 83,716
= 58,601
Al 25,115
st o8 HAW ZAH X 2,762 0 2,762
J| 1,381
Al 1,381
307 glz2tol & 2,762 0 2,762
J| 1,381
Al 1,381
05 RIZHRI &t 3 2,762 0 2,762
O % Fad g4l 2,762,000& 2,762
J| 1,381
Al 1,381
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A I ZSH=E
HH: 0SB4 25 54
el AW 2584 (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
st gt HAd ZAHl XK (AlH]) 638 0 638
Al 638
307 2Iz2t0| & 638 0 638
Al 638
05 QIZ2tREF 2 638 0 638
Ostn g FAa4E ZAH|(AlHl) 638,000 638
Al 638
NEEHAE HFOHRAFE 2GAE 2,800 0 2,800
Al 1,400
- 1,400
307 2iz2to| A 2,800 0 2,800
Al 1,400
- 1,400
11T A EXAIEEX 2,800 0 2,800
OXEaAE BFHRARJ}S 2E XA
2,800,000& 2,800
Al 1,400
- 1,400
HAUE 23Es A 389,049 369,494 19,555
= 110,297
J| 700
Al 106, 148
- 171,904
Ha4dE 2398 29 XA 130,940 125,602 5,338
307 2iz2to| & 130,940 125,602 5,338
05 QIZ2tRE 2 130,940 125,602 5,338
OFAE23I9 & 94| 130,940,000 130,940
HAYE 2398 =4 17,827 3,700 14,127
401 AlEHIZL 2 0HY| 17,827 0 17,827
01 Al&EH| 17,827 0 17,827
O3 U=SEE (YY) MELE BA
14,824,000 14,824
OAEzS DAUZA 3,003,000 3,003
HFAad 90ts 0300 2E(XE) 160,702 160,702 0
= 80,351
Al 80,351
307 2I2t0| ™ 160,702 160,702 0
= 80,351
Al 80,351
11 A EXAIEEX 160,702 160,702 0
OFAYE 85 o240l 29 K&
160,702,000 160,702
= 80,351
Al 80,351
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AN =D
Ha: Ol - AW 25 84
ool AW 2HEE XY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HimES
HAid XS A BRI X2 (X&) 22,320 22,320 0
= 11,160
Al 11,160
307 gl2tol & 22,320 22,320 0
= 11,160
Al 11,160
11T AIS S RAEE = 22,320 22,320 0
OFaE XA BIXI XI& 22,320,000& 22,320
= 11,160
Al 11,160
S3ELYE AL Z2J829 & 9,800 9,800 0
307 glz2tol & 9,800 9,800 0
11T MISXASEX 9,800 9,800 0
O&FAE N4 ZE208 2
9,800,000& 9,800
ANEHAE H0II2 2E(EX) 2,000 2,000 0
= 1,000
Al 1,000
307 glz2tol & 2,000 2,000 0
= 1,000
Al 1,000
11T MIZSXASEEX 2,000 2,000 0
OFAYE AL 2Z2A3 29X
2,000,000& 2,000
= 1,000
Al 1,000
Fad ol280te XN (X&) 20,590 20,500 90
= 8,236
Al 6,177
- 6,177
201 ¢4l 1,090 1,000 90
= 436
Al 327
- 327
01 At 22l 1,090 1,000 90
ON=g0tY =2 & Sotel dF &A=
=4 100, 000& *3H 300
= 120
Al 90
T 90
O8EES M 790,000& 790
=2 316
Al 237
T 237
307 21201 A 19,500 19,500 0
= 7,800
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A I ZSH=E
Ha: Ol - AW 25 84
ool AW 2HEE XY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 5,850
- 5,850
11T A EXAIEEX 19,500 19,500 0
OFA~4E 2d0te X 19,500,000& 19,500
= 7,800
Al 5,850
- 5,850
Had sotel X 23,870 23,870 0
= 9,550
Al 7,160
- 7,160
307 QI2t0| & 23,870 23,870 0
= 9,550
Al 7,160
- 7,160
11 A EXAIEEX 23,870 23,870 0
Ood3a4d sotel X 23,870,000 23,870
= 9,550
Al 7,160
- 7,160
Had EEXA 1,000 1,000 0
J| 700
Al 300
301 et A= 1,000 1,000 0
J| 700
Al 300
01 Al E & A 462 1,000 1,000 0
OMEIXH, HAXNIES #3AHE EEXS
1,000,000& 1,000
J| 700
Al 300
HHESHAY (OIS =1) 264,969 273,879 A8,910
= 135,711
Al 15,093
- 114,165
JlE&dl 60,205 66,879 NB,674
SEAMI23HH| 60,205 66,879 AN6,674
201 et H9d| 8,505 9,639 N1,134
01 AFR 2t 2| bl 8,505 9,639 N1,134
OBAESYE Jl242H| 279,000 x15H 4,185
OJl2gess 2aH|l 8,000 «3AI«152 x12€] 4,320
202 044 46,800 53,040 AN6,240
01 2L bl 46,800 53,040 AN6,240
OJI2ga=8 0| 260,000 x15H «12& 46,800
203 R F & 3,600 4,200 A 600




SH: HEH=D
Ha: ¥H2YAL OIS =)
¢l =gl CHo| ® Q)
= - 4 14
SN FH-SA(EN) - MBAY - BES e HlnE2
04 FN2ELRZ=TH| 3,600 4,200 A 600
ORNZR2Y 300,000& 128 3,600
405 TtabF S| 1,300 0 1,300
01 AL ESH SHI 1,300 0 1,300
OE=s 2 1,300, 0002 = 1CH 1,300
A2 I 204,764 207,000 A2,236
= 135,711
Al 15,093
- 53,960
OtS SeAtel 2tel AL B 104,737 106,725 A 1,988
= 104,737
101 @124l 104,737 106,725 A 1,988
= 104,737
03 R AHAAN2Z2HE =+ 104,737 106,725 A 1,988
OOtS S e At ZelAl 2IAHI (4HEE S X&)
104,737,000& 104,737
= 104,737
OtsSSE Al Z2t2lAL =5 S 23,428 58,657 A 35,229
101 @14l 23,428 58,657 A 35,229
03 RIAHAAZ2Z2RE > 23,428 58,657 A 35,229
OZFZZ Il 1,791,000& »3H 5,373
OZHZAHI 130,000& x3H «12& 4,680
O¢xresI=¢ 1,477,000 «3& 4,431
OF=In PAJ0 =) 1,077,000 =3 3,231
Oits=¢ 480,000& 3 1,440
O=g FHIRE=S 91,5303 x3H » 128 3,296
OzUZ 2= FHIRES 27,1208 «3~12& 977
OFE SR LA 2122l 35,347 32,758 2,589
= 12,823
Al 12,824
- 9,700
101 @124l 35,347 32,758 2,589
= 12,823
Al 12,824
- 9,700
03 I AHA2ZZHE > 35,347 32,758 2,589
OOtS=E X WAHX L ASI S XA e12d] K&
25,647,000 25,647
= 12,823
Al 12,824
OOtS =X WAHK G AISI S XA &0
1,500,000 1,500
Os= (21l 428 S) RUIREE
8,200,000& 8,200

_32_




e
HY2HZH (==t
ol 2yl (B9 ®R)
= - 4 14
SN FH-SA(EN) - MBAY - BES e HlnE2
Ots=X WA HRIHH 9,478 8,860 618
101 @14 Hl 9,478 8,860 618
03 2N AHAAN2Z2NHE =+ 9,478 8,860 618
OOts=X A HE FOH
2,237,850 «1& +80% 1,791
OOts= X WAH HAHZ A
130,000& 12 %123l 1,560
OO0ts= R WA AIJLE AHHI 1,477,000 1,477
Ood0= 1,055,000& 1,085
Ot=E=¢ 480,000& 480
OAlteZ22=Y 11,5353 *150%x* 180 Al 2t 3,115
II=s2SdHERA B+ 22,689 0 22,689
2 18,151
Al 2,269
- 2,269
101 @124l 22,689 0 22,689
2 18,151
Al 2,269
- 2,269
02 JIEtE B =+ 22,689 0 22,689
OAZEE S IIH Ot= 22,689
=lleg 2,060,250 *35/40 Al 2t 12& 21,633
= 17,307
Al 2,163
= 2,163
oAN2A2RFE 8,798 «10Al 2t+12& 1,056
2 844
Al 106
- 106
ItsEsdEed =4 S 9,085 0 9,085
101 @124l 9,085 0 9,085
02 JIEt A2+ 9,085 0 9,085
OANZEE YOI M Ot= 9,085
oIt Exd 60,000& 123 720
o Z A GAH| 140,000 <123 1,680
oA gE XY 145,000 x35/40A1 2+ x 12 1,523
oS 2,060,250 *84%*5%* 122 1,039
S
1,802,750 84%*86%1/30%1/7*77 Al 2¢ 478
o= bl 20,000 133 «12& 3,120
ool & sl 50,000% «35/40A1 2t+ 122 525
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